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2 HEHEEERN

= 2500 1b
B ) )
fEM, = 0> 1 x2500+30xP=20
P=-83.31b ol
ie P=83.31b} pa

6. tol1- 7I§#Zt#lfﬂ7]ﬂﬁ¥o.—6000§/4:75?13# R
BB ZEEA , AN EEAE2H -
i 2 Fig 1-7

RAFANMER AR wéAa=( 490/1728)x 320x12x A
1.09 x 10* A+ 2000

Saes = A 6(”0 psl
2000/ 4+ 1.09x 10* = 6000
_ 2000 v
4= 5000 — 1090 — 2407

7. W1-5FRZ MERERRXME 2/ x 1/ 455805 0 , @882 13T
HNBIRoe=10,000 & /F 5N , MESTZAHNENIR 0=
60008 /7 50, RIESTZREER, FEPEMLERT2RN
PREAK 2B

-

Te=S/A,, S=P/2
L2
rd® /4
P/2
2x1/4—dx1 /4
=10000 (2
from(1)&(2)
3" P /2=6000xnd? /4
ﬂ =10000x (2—d ) x 1/4
6rd*—20+104=0
d=10.8 in _
8. MCATRE BMAER 40 x 4R FE Fz AEFTEBEBEZ BT ¥
NR 7o =100 8 /F K, BRZ AIE)E 0. =400 & /FH0
» Ra, b, ¢, BREZB/NKRMA , S8 REE REE -

T»=6000 = (1)

O0w =S8 /A=
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w81 -2 3

Free body: member 1
BREIM,.=0
7x300—-Bx4/5x3=0
B=+ 8751b.
atD
D: =8751bx4/5=700 1b
D, =8751bx3/5=5251b
A, (1) te=D,/A,
100=700/a x4 a=1(3/4)",

(2 0w :P,/Azb 400= Y

D, b=7/16"
at C
@EBV =D, =525 ib

25
cw=8, /A 400 = s ¢c=21/64"
c

9. WChATI 3V0BHREMH 1/ 4M EE 2 M98 2058 RS B aT
o, KRB REBEHAHFBOR 200 & /F 5 , RBRZ B/
E&e

Lose—fitting washer
Diameter of hole=1/4"+1/8"
=3/8" (code )
0w =F fA
v 300
n((d/2)*—=(3/16) %)

200 =

—§~<3n6r:3/zn©dw%:oxma+m4m
d=1,43"
0. M C R 8 IS AR SRS 10 > BAMEES 200 B /75 B, K @SS
Vi, S HABAEETOREHZER
LF,=0
Ay =Dy =525 1b

T Bearing Areq = 4 x d



4 MHDEERRER
ZF: = O

F,.
A: +300-700=0
: A, =400 Ib
a= /(5257 +(400)% =660
(%d A 660
i Za 0w = 200 =da
KRR d=660/4x200=0.825"

11. EDZHBAEED = I0NAZAHNRIAEERP, =300 /F
FHnt , gz THEEHES 10,000 & /F5H , RIGADERE £
NihATE R el E o

0o=F/nA F= 300x{§x102

, - F 300xnm/4x10°
T Ag. n/4x1/4x10°
WJ—LLLi =12
®D .

W13 W :
1. ~EBROR (RS 2REBEE INF H28y , sRRRIREX
B1MOEE) , wtEFa N P=3500 8, E=10.5(10)° &
[EHEN, ER2R R o
o, =3.5x10 °® psi

3
o :1'-53/%-9-:4.46x 10° psi
¢ 3.5x10*x2x1
5':01512 1.05x10° 2:8-0)(10"3"
3
.= ozEE, - 4x1120>;i.i4§>7x 10° 904 x 10-"

§=8,+3,=0.0284"

2. BP2ANE2 .XCHERMAN (E=30(100°8 /FH) Hit

B, R _ERHIRE PR T T RIS EERTE 8 o
¢ =32071¢ \
A= 0,338 in?
r=490 16/ ft?

1"‘7) 2



M1 -93 F

W=rl4 ‘
=(490/1728) x 320 ( 12) x 0.338
g = 368 1b
from Example 1
% 4 S,=2000+W /2 = 2184 1b
= ¥
(Eﬂ 0= AE )
s, 2184 x 320x12 Y
_ I % T IF T0.338xs.0x100 083
b S, =W /2—-200= 184—200=—16 1b
Nt R T
| 1o =—0.006"
dfesdh 27 =8+5,+ |5, = 8.836
R S.r=4.418 '

3. ~HENRIER A= 0.5F 552 K BH M AFR, REZS
N&k,¥E=30010)8& /FH o
3 g G,Al (consider equlibrium condition
3K

(i)member (1)
—— K =3K]-— 4.3 3

: | = 4 kips ( Tension ) t)
1’ | 5 _4x10* x3 x12
W ig 5,1 @) 'T1/2x3.0x 107
1 3K
jn_;K ‘i:l N =0.0096"
E]'_‘Iilf (i) member (3)
@ S, = — 3kips {c)
_-3x10°x6x12 "
0=/ 2x3.0x107 - " 0-0144
(iii) member (2)
S, =0
52 :0

0=8,1+6,+4,



s HEHSNERN
T =-— 0.0

'=--0.0048in

4. MATHM4 k2

144 7 + 0.0096"

FIR RO R T R Z I RERE ?

KOHEY member =
Bié, MR —0.0144"

' HRO

ZES, =0.044" Fo AR 0
‘.‘6,’:s'L - BS, W8 4*( Tension’

3,

.. [a,

AE
al,’
8’ _0.0144
=1 X% =75 0006 > 3
= 4.5 ft ( from fixed end)

Y

p——— ] 3kips
v ikips 3Kkips
A6 1 6 —

5, —MBRAB HERTMEHRE CO XEARKFME , il BFi= ,
T O NRZMERA=0.10F5w , HTFNHR o= 20,000 & /F
BHnt, REHPZRRERBUZHEEABN , NRZBERNR

E=30010)°" g/ F % o

T

w:.XO‘:—
o 2.0x1 0-1':-9

3 T=2.0x19%1b

PxB8—Tx3/5x4=0
P=Tx3/5x1/8x4=600 1b

T 3 2.0x10*x5.0x12
—al /E =
F\E/w/ s 070 3.0x107
A= =4,0x10°% fz -
A8 A aAC T
Lz//l/”\g’f - AC /AB=4/8 AB=2AC
%“'4'“’}“’4'4 o AC =—2 =4,0x10-*x5/3

sinea

] (‘*.g .
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=6.66x10-*
AB=2AC=0.133 in
6. HE1-6MCHB R BA, RXH ABHE J0R K ALMERTE
30/2
cos 30°
Gwl; 0ex15Xx12
0= £ cos30°E

I, =

AC = =296

cos 60°
_2xcwX13x12
" ¢0s30°x E
_ 2x10'x15x12
ov =10 psi T V/3/2x3.0x10°
0.138 in
—HRAB RORBEN VRS RRNKF BUMCHR, ABZE
BEKETN; BE6R , Wi S 1. 767 5 , MILSEES 15 ( 10) °
B/FA5N, BEZSERHANE ; R 10K, ¥iE 0.785F 5 1,
MERBR30 (10)° 8 /FHN , REAMNIPZUBEAB 2%

fi

-3

T ERDBR AR KT ARAE ©
it EM. =0, (9—+)B—-x4=0 (1)
XF, =0, A+B=P (2)
“r“ from(l) and (2)
x
e M — B=—P, A= - P
o 5 (1-x/9)
] | d —
A ’-_x‘.!P B let 6Eva.ll—6¢tczl
£,S, 4,8,
A E, A,E, .
10x (=) P
6x(1- x/9 )P 9

1.76x1.5%10°  0.735% 3% 10°
x = 3,13 f¢
8. WD HIZIE R SR @A = 0.307 § A M SE L = 30 10)°



8 HNHIENERNK
B /LM, ABWZ RIS Wr T & A 32880, FO%GE
AB BR#7110,000 BEREIHETH ?
4 8 {(Jat joint A
F.=10'1b ( Tension) €3]
Fip=10* 1b (Comgression) ©)
@B at joint B
F3c=10'1b (Tension) (v
Fyp =10* 1b ( Compression)’ ©
(2 consider the Geometric relation

3

»

iy
£ V7 s——{C

F _ o
B ﬁ'!;;'b.nf?‘é, B

AN % Sscl 10*x5x12
‘381) 8 mc= = - 7
P=10°1b AE 0.307x 3.0x 10
=6.5x10"2"
dap=—6.5x10"*"
_ 0 zc _ d o _6.5)(1(.)'z
6'_c0560° T cos60° 1/2
= 0.13"
the elongation of member AB due to teasion
10* x5x 12
8 =0.307x3.0x107 ~0-5x107°"
A§=26s+8'=2x0.13%0.065" !
= 0.325" ‘
n=0.325"/(1/16) =5.2 (Turns) .

9. tn1-12 Zﬁﬁ#ﬁ HEROBRRARE GFERRAZ BT M
WANERA/2, HREZDRRSAFENZRNE) o -
A, _20—x 20—~

A, =
A 24 ( 2¢

) A
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BE1-4 9

=yw?*/3&
10. 4 ME 2z WL+ BC BA4RHABERI =1/81, AB BRX
BEES—MZES, REBEHP =400 BBRZHMARBHRUEB
o iz MUHMBE. =30 10)° g /EA58; KﬂZﬁﬁ&&ﬁ
Eo =1.5(10)°8 /EHrt o
Fac /3=P /4 =F,s/5
3x 400

FBC:3P/4:

=300ib (IO
P —5-P~ 5x 400
AB — 4 i 4
=500 1b (O
300x 3x12
3.0x107x (1/16)%*x
= 2.94 x 10"
—500x5x 12
08a= “——"—l 5% 10° % 1 =--0.02
0rn =dsc= 0.02%4 "
0v= BE+ DE
=6 sa/cosa+t fs tan a
0Ba
:sine
_L;/O: +0.0294x 3/4

=0.025"+0.0220=0.047"

dsc =

+ drcot
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, ARMER B AT MR BEE0.02M, BB L2 THEES
R30W & /F5HM , MUESEKESE.= (10) & /E 5, KRAEE P
ZRRME, INEENHE o
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